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1. ¥ =-1=0 63;2 =‘4x-‘-2” 3. x* —14 = -5x
X=X A XF 5 X=-1.2

4. 9x — 9 = —4° (6.)1x — 20 =6 6. —3x =+’ +6
\”//')71% ~ =7, X:*B,’(O

in Exercises 79, solve the equatmn using sguare r@oz«‘.

T e - R L
Uﬁéﬁéﬁ‘lgl (x+ 1) -4 = 5 R _v% gﬁ = %-x? +6 T X %@;\)
( - = % L ( 3

! N & \Z‘H o i
c=1d S R S SRR
10. Write an equation of the form (x — a) +b7=d that has (a) two integer X = +
solutlons (b WO mationals lutions, and (c)no real solutions.
CX=HrEsD by Y-SR 00RO (k=D % /0=
In Exercnses 11-14, solve the equaltmn b)/__@ﬁ@gfg}EHq
T 0=x"-121 Y =TV! 12, 3k + 2k =2k + 11k | “,Cﬁé_ =0 fL:D, T

.—WZ — n‘l — 7 = —7\4:\ :L '5;) v _._26(0 2\((&/’3‘\} =
l\/t \/1

i/-)u / D 1,“).) “F) ‘JD,' 5}ﬂ2« Y 1033

Ink -5 and 16, ao!ve the equation using any method. Exglain your
(15) ¥ —x1 & = 0 =3, Uf 18 7% =15 = 0.19 -t 3
o 25 - P A
;{w-;i" \;i/‘; (ﬂ';-'\\"a X / //5 (, ﬂ:’l-Qc( N
In Exercises 17-20, fm%* a8 zero(s) of the function. .
1'./" h(x) = x + 7x - 18, Yo [ 18. j(x) = x* - 16 - 'f;l-{/
0 e e X2t g
19) g = - u{ e D1 'f(x) = 9x — 241 + 16 12 — S
ol 4 S _ - N
RN - i oo-24 Lz 3e(aed f\ﬂ g
f\/‘ (W‘“ .‘khv“’ rehital s- o renits 28 layaky per veck wh“ it charges $25 per day.
or czeix $5 increase in price, the shop loses four kayak rentals per week. How // 5\ [~ i > g\(f =0
much should the kayak rental shop chawp to maximize weekly revenue? What is b

i the maximum weekly revenue? }C k}{;/ 3
4 i
2122} You drop a coin into a fountain from a haight of 15 feet. Write an equation that
= models the height / (in feet) of the coin above the fountain ¢ seconds after it has 6 D
e
( =

been dropped. How long is the coin in the air? h{ . !1
(#KO\ QKS"P‘@@O'OL @ )= \P 2
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In Exercises 1-3, find the square root of the number. ﬁ
1. 725 5(/ 2. /Bl q J 3. 3 L]lb

{n Exercises 4-7, find the values of x and y that satisfy the equation.

4 Sx+3i=15+y XK= 5. —6x+10i=1242p
- X = g‘\ L3 :3
6. x+2yi:13+8ix:’ib 7. 3x+50i =18 = 5yi _
= (o = 10C
in Exercises 8—11, add or sub“.t/r,act. Write the answer in stanfard form.
8 (3+2)+(5+ 70 B’HC é(df 3) + (9 + 20) »—-L

10. (6 + 5i) — (4 + 3i) Z_'FZL (1)/ (7 - 4i) - (10 - 3i) 3
12. Write each expression as a complex number in standard form.

VEE = - S T -
b. /=27 + /49 ~ /=64 3“)3 1/7('/,5% = L*B‘;"G

In Exercises 13-16, multiply. Write the answer in standard form. . O}?@ _ O\ 1 2L\ ;”
//p{, 5i(~4 + 2i) ’2;)/ 10 T4 3 - 30) L - '
TN oD

i 18, (2 l)(3 + l) & L‘f ks x;;it:ﬂ%eum»%v_;ik 216. 4- + 62)(9 21) {

) f" ,r‘.;_,-{ R § {; -4 — \2
{17. Justlfy eachi’Etep in performmg the ope'rjatlon 3LD - % L + “:)u L LL,L
14+ (5 - 3) - 4i ' L

[(14 +3) - 3] -4

(19 ~ 3) ~ 4i

19 + (~3i ~ 4i)

19 -7

In Exercises 18 and 19, find the zeros of the function.

v(_,L,(§18 Flx) = 547 +15%b;—|\#5;_ @ g(x) = 3x% + 21 B\K ?_; ,Z[

Exercises 20 and 21, solve the equation. Check your solution(s). X - 1 . S P
\‘ y - Y o }
}(// 20. x+36—q\ﬁwﬁv 21.) % + 6 = —14 =N
pal s
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In Exercises 1-4, solve the equation using square roots. Check your solution(s).

1. w? — 22w + 121 = §1 2. k*-16k + 64 = -8
3. 72 ~30f + 225 = 24 4, 9p* +6p +1 =12

In Exercises 5-8, find the value of ¢ that makes the expression a perfect square

trinomial. Then write the expression as the square of a hinomial, LT

i 6. ¥ +7x+c —
@ —3y+c LZB @ 8. ) + 20y +c @ 0 2 - o,

v - \'/\\ - o - :
In Exerc es 9 4, solve the equation by completing the square. /\f\ _— i - g
O S S R S
9. g(g+6)=1 Qs -sh-15=0 ‘N TnTE T D

, . — {,a"“'/ ' ‘ . :,:-‘ (( o ;:; (

@ 3x> +24x +15 =0 12, 3y(y ~ 8) = 36 U U T s
“‘“‘—4_—::})?’—. = ) ‘5 [\ - < } ~
o 5 . 4 ! -
15, 77 - 18t = 14 + 102 14, 25° + 45 = -65+3 * £y

In Exercises 15-18, determine whether you would use factoring, square roats, v
or completing the square to solve the equation. Explain your reasoning. Then ’ C e e
solve the equation. et 7 /

15. (x +9)° = 49 6‘(?@’3 ‘U)c'ae 35 + 6x — 4 =0 TN | s

M ~
17. x* - 144 =0 5 —45 =0 Y v/ 2{,_@ e
‘A -4)= 0O PUOoR T -

In Exercises 19-22, wr (te the guadratic function in v«=r’tex form. 1 hen identify

the verta L/ ' R TS
_,ﬁ%’ = x? + 18x + 100 20. g(x) = x> — 2% ~ 26 /,/ R
21, h(x) = x* + 22x + 96 22, flx)=x*-x+2 ]‘\ {
The height y (in feet) of a lzaasketball t seconds after it is thrown can be modeled ot Li: .3
by the function y = -16¢° + 32¢ + 2A0g X _ ’32 - \ = -

a. Find the maximum height of the basketball, 71 - e L?) 31(\) . 2, @

k. The basketball is caught in its descent when it is 7 feet above the ground.

Her long is the basketball in the air? - 2,324k = ]
I i s

4100 3 Aot*x32L 50

(x+Q)* éﬁ’ 'Y
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In Exercises 1-8, solve the equation using the Quadratic Formula. Use a graphing

czleu{ator to check your solution(s). e Lo .
2 - PR o
‘\L;{_,}x +9x+4=0 2. 2x 2x -4 =0 ’ }/ _ ,_O B @5
3. 222 +12x +18 = 0 @—M 3,1 - __P,,____._—\‘i.“
TV IRV = nyz)(”jf/,ﬂ-{! = ,2
BJ 31" + 5x =4 25-U{PKH) 6 24144 = 24x - |
S S VS L{ o 23.5 g e o fé e
=Tx 20 4§ AR 8 6 =4x-9 el
AVEPS S bt - QO

In Exercises 9-12, find the discriminant of the quadratic eguation and describe
" the number and type of solutions of the equation.

X} —dx+ 1= b A\O“C' x? +10x + 25 =
)X —4x+1=0 L'-\}L ’*\(‘X\v 10x + 25 = 0

1. 3 -3t +18=0 - 2 -2 ~2x+3=0
2 vec:\\ \Nt\'lom\ CoctS .
12, What 2ve the complex solutions of the equation 2x* — 32x + 178 = 0? LV A Z(’: _ '%’ .
Ja P ./ DR
Aoox - 200, 8 - 207 B. 8+5,8-5i e s
C. 32+ 5,32-5i D. 32+ 20¢, 32 - 20i /Z/ Z

In Exercises 14 and 15, find & possibie paiv of integer values for a2 and ¢ so that
the quadratic equation has the given solution{s). Then write the equation.

0; one real solution (:’ 5) Lf ac %O o7 PR
) e o 25-4ac < ! 4» g 7
@ ax 5x +¢c = 0; two 1mag1nary solutions 725 L} l acC /& - i -

14, ax’> +8x + ¢

i

‘i e
In Execd 6 and 17, ussez e uadratlc Formula to writé a quadratic equatio \ &
thar has the oiven solutions. m
]
9+ . /-79 11+ Jo7 26
16 X = —_7*_—- 17‘ X = - ]-1 -—-»6'\/ 97

In Exercises 18-21, solve the guadratic equation using the Quadratic Formula. Then OQ \ L -\
solve the equatmn using another method. Which method do vou prefer? Explain. \O - ’\73

18, 9x* +4 = 12x 4% ~13x+3=0 l,\*?//,'r: -.?gfﬁ"}f ’_‘_,:ﬂ-:(}

\ A
20 i ~12x+9 =0 21, x? —dx =12 — N
. ~ £ P 5 iﬁ UO
' ; ¥ +x+c=0 Nyl -5 ) AL
22. Supposs a quadratic equation has the form - Show that the o é Yo 2 -
constant ¢ must be less than —j: in order for the equation to have two real solations. L f'“\é AT
R y et
P V.. /:";""v
v A
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